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Question 1- X 600Aiter of mixture of milk and water contains water

60% @c mixture 1s removed and replaced b then
the ratio of milk ad water become@Find the quantity of y.

T 1- g SR % 600 T 21T H 60% T 81 20% fireror bt &2
e ST @ ST 3W y it g4 © SicreuTfue fera ST €, a1 g o urt s
STTUTC 15:8 BT ST &1 y shl WIHAT 7 Shifora|

72 L
36 L
64 L
48 L
—E—None of these
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Question 2- The present age more than present age

fter 12 yeard\the average of these age will be 96 years. Find the age
_of P 4 year before.

ST 2- P 3T SdHH 3T, Q hT SHM AT § 40% T4 81 12 TN o oG 3
3T T ATET 96 TN RN 4 TN T8l P 3hT TR 1 hifSrIl

24 years

36 years

30 88 years

o0 w»

96 years

. “E— None of these
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= 94 = J6R
[RA = 16Q
A= 4
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R
Question 3- The income df P 1s Rs 40,000) The ratio of expenditure of P
If P saveS Rs 4@ ich 1s one third of amount saved by Q.
Find t

¢ income of Q.

7 3- P oAl 3T 40,000 ¥ & P X Q 3 SF I ST 6:7 2l Al P 4000
TG FATAT & ST Q TR ST=ITE TS UIRT 1 Ueh =TS B, aF Q ht 3117 J1a hifs

L= tKPwLSW A. Rs 42,000
—B~ Rs 54,000
30 C. Rs 44,000
D. Rs 64,000
E. None of these
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(1) 1p= 40,000 Eg=Tréooo

— X000
E?:- Hoooo—Hao 0 T# Inom= H2000 1 [Roog
3~(9~_ Yooo .
NG R e
l:$6600 =

https://t.me/mathbytarunsirmepl



| @ SBICLERK 2023@
Question 4- 240% of 50 + V784 =2 +1§ 0 0?30

T 4o 50 T 240% + 784 = 2 +30 T 120%

-8
120 +29-$= x

L= [l
- A. 122
e i B. 132
—— 112
D. 142

E. N f th
https://t.me/mathbytarunsirmepl onc ol these
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960328 3+ 8x35 _

?ﬁfﬁ, Question >- =2 0% of 40 —187 !
9¢
I= (04380
4
AR\S 5
= ﬁ:
b = A. 44
B. 54
30 58
D. 48
E. None of these
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Question 6- 40% of 320 + 35% of 480 = ?3 @

I 6- 320 T 40% + 480 FT 35% = 23 +9%19

28 7L ﬁ\;,\

= I A. 15
d‘-;?\/ IR5 B. 25
7e 30 o s

E. Ni f th
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Question 7- V361 + Q2116>+ 12.5% Ofiz,gﬂ = 5 X?

| _
30% H6+0= 52X
! =00 A.20.4
X= . 20.
;_R B. 194
C. 144
D. 164

E. None of these
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Question 8- @29 50=73

=
—_—

—
—_—

X3 = UHg-50
30
o = hog¢
Y= 3L A. 2096
R B. 4496
d= g C. 4096

—

D. 2496
- None of these
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The given line graph shows the number of bike sold by Suzuki and Yamaha
in different places(A, B, C and D)
T 71T Tt AT GSTehT SR ATHTET ST e €M1 (A, B, C 3R D) H of=f 78
SITSeh <hY T S ST &
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Question 9- Find the average number of Suzuki bike sold in all places.

T 9- Tl AT O =l 715 FSTeh! sIT3%h <hl {T6d ST 1 i)

M’GO 10000 8000
8000
B. 2800 o 5000
C. 3800 4000 2000 2500
D. 4800 2000 --- Q
E. None of these 0
A B C D E
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Question 10- The number of Suzuki bike sold in place C is what percent of
Yamaha bike sold in place A and D.

T 10- C T T ST 7T5 GS[ehl sIT3eh shl HEAT, A 3R D o T Qs T3
ITHTET SIT8eh hT TehaHT TSI 87

A. 12.5% 10000 @ 3000

8000
B. 112.5% 5000

6000

C. 98% 2000 2500
D. 122.5%

2000 A

E. ne of these 0
L. No - - @ - -
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Question 11- If total number of bike sold in place E is 45% more than the
total Suzuki bike sold b ind total bike sold in E.

T 11- A< T E H sl 715 aI15eh shi el TE&AT A 3R D gRI o= T8 el
GS[eh! S5k | 45% 314k €, 1 B H s=il 715 3t siT3eh J1d shifsra|

A. 1115 10000 8000

8000
B. 1215 5000

(S]0]0]0]
C. 1415 4000 2 _0) 2500 O
D. 1315 2000 é

0 \
E-Xone of these
A B C D) E
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Question 12- The number of Yamaha bike in place D 1s what percent

more/less than the Suzuki bike 1§ B and C
T 12- D T I ATHTET 155 ohl 9&T, B Bﬁtcﬁgﬂoﬁ STSeh ohl G O

feha IfaeTa Tfereh/| 82
A. 40.7% more 100
B/m% less zzzz
C. 45.8% more 4000 2000
D. 45.8% less 2000

s Mme of—{-ﬁw( 0 A B C D E
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Question 13- A person sells an article at l@ and iai 40%) At what

price should he sell this article so as to make profi

Question 13- Teh 541th Th & Al 1120 T H S=IdT & 3 38 40% hl ATH
EIdT 2. ATV shl TeTAT St ok [T S 39 S ohi fohd Hed O SI=HT A1RY?

A. Rs 1460
30 BT Rs 1760
C. Rs 1560
D. Rs 1660

https://t.me/mathbytarunsirmepl E. None of these
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(P 007 - F Qoo
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Question 14- On a certain sum the difference between the simple interest

and compound interest for 3@0)% per annum 1s(Rs 3840.) Find the

compound interest on same sum at 10% per annum for 2 years.

Q"m"ﬁﬁﬁfl’fi?:r{ 20% Jfd Y Shl G H 3 I o TeTT ATIRT SATS 3R ka5
SITST oh STl ahT 37T 3840 FU B 2 TN o foTT T TFRT IX 10% AfT IS bl X 9

ka5 SATST T shifeT|

J‘@*f JY Ay A. Rs 5300
[ £30 _B—Rs 6300

C. Rs 7300

\ D. Rs 8300

https://t.me/mathbytarunsirmepl E. None of these
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Question 15- The ratio of income of P and Q 1s 5:9 and the ratio of there
expenditure 1s 1:2. If each save§ Rs 6000 then find 50% of income of AP

T 15- P 3 Q hl ST T ITUTT 5:9 & ST & 47 31 UG 1:2 81 Fid
Tedeh S th 6000 9 =TT &, T A shl 3T T 50% JTd shiTs|

A.Rs 12,000
C. Rs 16,000

_D_Rs 15,000
https://t.me/mathbytarunsirmepl E. None of these
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